
Daily Mains Practice Questions 07-06-2023

GS-II

Polity

1) Parliament has lost its effectiveness as an instrument of oversight. Comment (150 words)

Refer – The Hindu

 

GS-III

Environment

2)  An  effective  energy  transition  in  India  will  require  bridging  the  ambitions  and
implementation gaps between the Centre and the States. Analyse (250 words)

Refer – The Hindu

 

Agriculture

3) In order to meet the growing demand for food amidst the shrinking land size, there is a
need to focus on precision farming. Discuss (250 words)

Refer – The Hindu Business Line

 

Enrich the answer from other sources, if the question demands.

https://www.shankariasparliament.com/
https://www.thehindu.com/opinion/lead/the-indian-polity-a-democratic-diagnosis/article66938818.ece
https://www.thehindu.com/opinion/op-ed/seeing-indias-energy-transition-through-its-states/article66938039.ece
https://www.thehindubusinessline.com/opinion/precision-farming-vital-to-meet-food-demand/article66934926.ece
https://www.shankariasparliament.com/

